Detailed examples for guidance purp
of nozional pay in respect of govt. emp

Amended Annexure 1D

ose for calculation of revised pension on the basis
loyees who retired before 30.11.2007.

(Referencs of OM No. 2/23/2016-1Pension dated 10t January, 2018.)

time of retiremen: or
Notioral pay scale as
on 1.1.198& for those
retired before
1.1.1986

S.No. | Description Mr. J Mr. K Mr. L
1. Date of Joining 01.10.1965 01.12.1967 01.12.1976
2. Date of Rezirement 31.05.199%9 30.11.2001 30.11.2002
3. Scale of Pay (or Pay 4000-6000 4000-6000 4000-6000
Band & G.P.} at the (Sth CPC Scale} (5th CPC Scale) (Sth CPC Scale}

4, Pay on retirement or
Notional Pay as on
1.1.1986 for those
retired befare

4800 + 60 Sp. Pay

5400 + 60 Sp. Pay + 32 P.P

5400 + 60 Sp. Pay + 32 P.P

1.1.1986
5. Quualifying Service 33 Years 8 Months | 34 Years 26 Years
6. Date of Increment 01.10.1998 01.12.1998 (01.12.1998
7. Pay fixed on notonal NA NA NA
basison 0..01 1996 o - ‘
8. Pay fixed on not:ona 11330 + 60 Sp. Pay 12450 + 60 Sp. Pay ~ 32 P.P 12450
basis on 01.01.2000 {PB-1, GP-2400) | (PB-1, GP-2400) (PB-1, GP-2400) |
9, Pay fixed an notional 29600 + 60 Sp. Pay 32300 + 60 Sp. Pay - 32 P.P 32300
basis on 01.01.2016 {Level-4) [Level-4) (Level-4)
10. | Revised pension Calculation on average Calculation on average Calculation on average
w.e.f1.1.2016 as emaoluments --- emoluments --- emoluments ---
per first farmulation
{Amount cf peasion 11150 = 28700 * 2 = 57400- | 12260= 32300 * 4 = 129200~ | 12260=32300* 4= 125200-
has peen reducsd 11330 = 20600 * 8 = 236800, | 12450= 32300 * 6 = 193800- | 12450= 32300 * 6 = 193800
pro-rata according to | Total Emoluments= 294200- Total Emoluments=323000- | Total Emoluments=323000-
length of service as
prescribed in the Average emoluments of last Average emoluments of last | Average emcluments of last
rules and calculatien | 10 months = 294200/10 = 10 months = 323000/10 = 10 months = 323000/10 =
has also been made 29420 + 60 Sp. Pay 32300 + 60 Sp. Pay - 32 P.P | 32300-
on the basis of
average encluments | Revised Pension = _ Revised Pension = Revised Pension =
of last ter. months or | (29420+60] 29480%66/132 = | {32300+60 Sp. Pay+32 P.F) 32300*52/ 132 = 12724
last pay crawn (as 14740- 32392+66/132 = 16196-
the case may be)
11. | Revised {amily 9000/ - 9690/- 9690/ -
pension w.e.f. {minimum)
1.1.2016 as per lirst
formulation |

Note :- Notional pay may be taken
amount of notional pay is t

taken for calculation purpose.
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one step back for calculation purpose. if the
he same then the same figure may also be
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